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Question #1Topic 1

What are two reasons why perimeter-based network security is no longer sufficient?
(Choose two.)

A. More users
B. More devices

C. More networks
D. More IT professionals

E. More vulnerabilities

Correct Answer: BE

Question #2Topic 1

Which two Cisco products help manage data access policy consistently? (Choose two.)

A. Stealthwatch

B. pxGrid

C. Duo

D. AMP for Endpoints
E. Cloudlock



Correct Answer: BE

Question #3Topic 1

How does SD-WAN protect network traffic from end-to-end?

A. Management
B. Automation

C. Segmentation
D. Analyzation

Correct Answer: C

Question #4Topic 1

Which two IoT environment layers are protected by Stealthwatch? (Choose two.)

A. Access Points
B. Endpoints
C. Internet/Cloud

D. Control Layer
E. Things

Correct Answer: DE

Question #5Topic 1

What are two key Cisco loT use cases? (Choose two.)
A. Industrial Security

B. Parks and Recreation

C. Connected Health

D. Financial Institutions
E. Mobile Utilities

Correct Answer: AC
Question #6 Topic 1
What are the main features of Umbrella for Cloud-Delivered Security?

A. Protect users against DDOS attacks
B. Handles 130B+ DNS requests daily with 99% uptime
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e C. Runs suspicious cloud applications in a sandbox environment
e D. Blocks malware, C2 callbacks, & phishing over any port/protocol

Correct Answer: D



